
-ESALSHEME
THEN fa :T , (X .Xo) ->N

, /Y , yo) IS A ISOM.

① HOMOTOPY INVARIANCE
-

EXERCISE : S'IS NOT HOMEO TO C-203
-

B , (S')==, (K-107) .

ROSITIO : SUPPOSE fif' : X -Y ARE HOMOTOPIC
VIA Fix*I-> Y .

FIX NotX .
LET Yo=f(xo)

yo = f(x) ·
LET h:-Y

- Exit)Y BE THE TRACK of NoY

N :

↑ ( , Xo)
** D

, lette
&< it

, 1 ,%
PROOF : LET [JEN , (XIXO) (So deLOOPS (XiXo)]

NUE THAT (Brofol (1) = Bu(fa(])
= Bu [fos]

= (h + (fod) + h]
AND fild] = [fod]

So WE MUST PRAYE

(foc)** fo
DEFINE G : 12->Y So go = fox

(sit)+ F(((s) .t) .

% g, = fod .



IREY

↓ yo for yokiso n * (f)th fod
AS DESIRED.

-
PROP118 :SUPPOSE F :X->Y IS A HiMOTOPY EQUIV.

FIX XotX . SET yo= f(x) .
THEN f: #, (X ,xo)E> , (Y

, yo)
IS AN ISOMORPHISM.

AMPLES : /"= Spt] , R"-soTesV:

&f of PROP : LET g
:Y -X BE THE GIVEN

HOMOTOPY INVERSE .
DIAGRAMx-

8 : Idx = gof -
q

Idy = fog.

LET F : XXI- X J BE THE GIVEN HOMOTOPIES.

G : YXI-> Y



SET xo = glyd = g(f(Xo)) . S&T yo = f(x)= f(g(y)
DEFINE L :I-X k : I- Y

E=< F(xat) +Glyo ,t)

↑ Y

PIEst
L E

#
BY PREVIOUS PROPOSITION

f THAT IS:
5
,
(X

,
xo)-> D, (Y ,yo -

Pr I · ! Ik & getBrfog = Br

#
,I ,Xo)-f, p, 14 ,Y!

Also : GROP 1 . 5 SAYS BriBe ARE ISOMORPHISMS

So go IS INT AND SURJ . So go IS An ISOM.

=(g)BDEDUCE fSAN ISOM · It


